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A body has Translatory Motion if it moves along a: :c‘:..t'/:f] 03 fl Jx d$ }fu l/‘ Jr J f) u’( 140
(A) Straight Line A% (B) Cirde & 070 )
(C) Line without Rotation ,c"a:{ (D) Curved Path 4~ /br;

A Measuring Cylinder is used to measure : : q_t‘(ogfrﬁ“:— J;:l’éj AR
(A) Mass L (B) Area |/ (C) Volume rx.’b (D) Level of Liquid J« ¥ étu’r

ﬁ el JTuirdGd L8 o musJp ¥ wdeds” | )

Which Instrument is most suitable to measure the Internal Diameter of a Test Tube :
(A) Metre Rule 3,/ (B) Vernier Callipers Jf’;’fn (C) Measuring Tap .‘.‘g‘? & (D) Screw Gauge C‘Q;
bt W1 § rodt & Lol & $zv 400 etdianr @)

Newton's First Law of Motion is valid only in the absence of

(A) Force JJ} (B) Net Force P & (C) Friction uif/ (D) Momentum (“"’r

The energy stored in coal is : P oe G s L S (5)
(A) Heat Energy J./lee (B) Kinetic Energy Sl
(C) Chemical Energy d)’g}é‘{ (D) Nuclear Energy &/‘l/-!x'

ey LAL L die il cdd g ©
The value of 'g' at a height one Earth's Radius above the surface of the Earth is :
(A) 2g (B) 1/2g (O 1/3g (D) 14g

e el P16 d Uee Qb g0 € 30° AL A1 -xid LT 100 ()
A force of 10N is making an angle of 30° with the Horizontal. Its Horizontal

Components will be : (A) 4N (B) 5N (O 7N (D) 8.7N

Rate of doing work is called : g Sl d 8
(A) Energy (5/! (B) Torque Lk (C) Power s (D) Momentum f‘"“r

In Solids, Heat is transferred by : I | S a7 )i rlf?’u’); )

(A) Radiation pf'“-'ld,ﬁj (B) Conduction gf“ pud (C) Convection uzgy( (D) Absorption ‘ﬁulzf
e o e bolJe bl o/ £ 6/r | (10)
Mercury is used as Thermometric Material because it has

(A) Uniform Thermal Expansion 344 le/ubf (B) Low Freezing Point -‘JL#J{/(

(C) Small Heat Capacity H ?{JJVH’ (D) All these (U
apdndlndd § i 2 &l Kk & @)
What should be the approximate length of a Glass Tube to construct a Water Barometer :

(A) 0.5m (B) 1m (C) 2.5m (D) 11 m

>

Water Freezes at : (A) 0 F° (B) 32F° (O) -273 K (D) 0 K & blur Jx ¢ ,4’-,&&3 (12)
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Note : It is compulsory to attenipt (5--5) parts each from Q.Ne.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from PartII. Write same Question Number and its Part No. as given in the Question Paper.

30 = 2x15 Make Diagram where necessary. -;flt'«.(fynd/;ﬁuw. (Part 1) J’L"
Define Nuclear Physics. s S S W 240
What is meant by Vernier Constant? ?4‘.)!/{;;&&5"}’%’/: (i)

te e ol Ul e UFE SR (i)

Why Digital Electronic Balance is more accurate than Beam Balance?

Define Kinematics. Ry oasaa 3 (iv)
What are Vectors ? Write its one example. 4‘3‘{)!./._{ JJI ' Lf /-{: (v)
Define Speed and Velocity. i S Gl ke (i)
Define Force and write its SI Unit also, -’qfa u‘( L S1E Jl éqj}’ J u'/! (vii)
What is meant by Momentum ? Write its SI Unit. _ae‘d < ST EUT ‘.'q.)l/‘[ & (‘?/ {viii)
Define Work and its S.I Unit. S ey sLLuta S () 340y
Write Law of Conservation of Energy. - é;fd ét'?le;u)G‘ (ii)
Define the S.I. Unit of the Power. g/ ey s L g i)
What is meant by Gravitational Field ? Sty Ve }Qﬁdgf (iv)
What is meant by Satellites ? ?‘L)l/lf = uj’/Uﬁ’ (v)
What is meant by Centre of Gravity? ‘.’r{,:!/l/ = C,f,ngT/“’ (vi)
Write two conditions of Equilibrium. ~é;,"d g d EASE1 (vil)
State Law of Gravitation. : _ZEk b ¥ ‘ﬁ'dg/’ (viii)
State the Principle of Floatation. By UK L ) 4y

Define Tensile Strain. Write its formula and units. _'46 F S i 6 c2EwS § g S i)
The Mass of 5 Litre of Water is 5Kg Calculate its Density. -25p# (% Sue et s ULy 3t /5 (iii)

L B sam s 6 gt wF § s ()
Define Specific Heat Capacity. Write its formula and S.I. Units.

Z:J/" J uJ’/d; J (_f’/‘/)’) 20 a8 u}‘]{f lelor (v)

Define Latent Heat of Fusion and Latent Heat of Vaporization.

Differentiate between Conduction and Convection. -é.b‘:&) o u‘—'(/ 2! uy 2 (i)
How does the Heat reach us directly from a fire place? ?%(?fé/uuau Jr" w7 (vii)

§ e tinudp ol p AU ¥ U (Chilled) & (viii)
Why does a Glass of Chilled Water becomes hot after sometime?

18= 2x9 (Part Il ) (o2
@) = BT s S Sl S P § () s A

Define Friction and also write three methods to reduce Friction.
) Juué_ndﬁﬁmo-:_d)’a,ybr/ﬁx W s£1004L cﬂﬁpwﬂ-c_d/c,/wc_du J eds g2 H (L)

A train starts from Rest. It moves through 1 Km in 100 seconds with Uniform Acceleration. "an(,g{

What will be its speed at the end of 100 Seconds?
(4) Find Perpendicular Components Fx and Fy of any vector F. <£r}"' Fy 2! Fx ‘,;‘;;( St & F o’( () 64
(5) ¢ SN 6 § i iife it ttfe $iS 20ms ! agtig 500 g SUEAE ()

A stone of Mass 500g strikes the ground with a velocity of 20 ms'l.How much is the Kinetic

Energy of the stone at the time it strikes the ground?

(4) Write properties of Thermometric Liquid. _é,l‘i”:I a?ﬁJétLbLndW*Jﬂf/"’ ) 74
(5) e p S a5 § < FLGALGLT 0 em x10em x5 em ()
A wooden block measuring 40 cm x 10cm x5 cm has a mass 850 g. Find the Density of Wood.
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200000ms™ 1 is equal to - P 200000ms” 1 1)y
(A) 2Kms'! (B) 20Kms ' (C) 200Kms ! (D) 2000 Kms™! (1)
Least Count of Screw Gauge is : = wiad J éz; (Vi)
(A) 0¢1mm (B) 0:-01 mm (C) 0001 mm (D) 0-0001 mm
Ve - V; ' Ve -V
f ! isequalto: (A) a (B) s (O h (D 2as D 4ls f : 1.0
Inertia Depends on : e bn AMKEAL @
(A) Force # (B) Velocity $Us (C) Time & (D) Mass (/L
Mathematical Form of 2nd Condition of Equilibrium is : & ¢ J’UP g e § skl (5)
(A) 2L =0 (B sF=0 (¢ 2P=0 (D) =2W =
bn 2 dP1E 09 Utoglegsls € 30° AL Alxud L § 10 (6)
A Force of 10N is making an angle of 30° with the Horizontal , its Horizontal
Component will be : (A) 5N (B) 7-7N © 8:.7N (D) 10N
Earths' Gravitational Force of attraction vanishes at : @ & Gb 7 Fe w}ﬁdg/ J i (7)
(A) 6400 Km (B) Infinity Jebusy (C) 42300 Km (D) 1000 Km :
Potential Energy (P.E) = - : { = (PE)EASY | (8)
A) 1/2mv®? (B) mv® (C m°gh (D) mgh
:+Cﬁggrk’¢.;4JLr/6ﬂ4(ét4Jw"h' 9
Liquid Pressure at depth'h' can be calculated by formula :
_ _P _9 _ P9
(4) P=pgh (B) P=—o (O P=_L (D) P=<
et S 7 FLen 2y S)EE | o)
S.I. Unit of Pressure is Pascal which is equal to :
4. -2 -2 2. -2 3. . <32
) 10*Nm2 B 1Nm* (O 10°Nm”“ (D) 10°Nm
The Specific Heat of Water is : - .ﬂ:"’;/l/ J (52 1)
) 2100 JKg" 1K1 (B) 2500 JKg 'K (©) 3000 JKg 'K (D) 4200 JKg T?
Rate of Flow of Heat is : = v/ J Wl e (12)
2
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Note : It is compulsory to attempt (5 - 5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

30 = 2x15 Make Diagram where necessary. - t-,.‘ﬁ;f‘ud/,/ubg (Part I) Uil
Estimate your age in Seconds. e S IR WK F SO () 2,4 )
Define Nuclear Physics. _é_g/"' J ‘/f//‘!x (ii)
Write the following quantities in Standard Form : _gg S /b St S Ui J Souke (i)
380000 Km (i) 6400 Km (i)
Differentiate between Linear Motion and Random Motion. -E{UlfJ} 94 Jrrb/ M pdige p2d (iV)
Define Velocity and write its S.I Unit. iy ey SLE sy § $ (v)
Define Centripetal Force and write its formula. 4’6 Ui KT ol éJ/J J J/!«J"' d/’ {vi)
Differentiate between Action and Reaction. _cz_‘.( 5 b/} d’{ 1Ss sl u—‘:.l (vii)
Write two advantages of .Friction. _é {fn A9 L uy:’ (viii)
What is meant by Centre of Mass? e e L K ST (1) 34 )
When a Couple is formed ? T e [ J J{ L (i)
How the Mass of Earth can be determined ? ¥ g v b LIS S (iii)
Why does the value of 'g' vary from place to place? Y@-J‘M Jdx ol e bod § g' (iv)
What is the value of 'g’ on Moon ? e l‘_f od J "By Al (v)
Why do we need Energy? e/ ud & G (i)
What is meant by Efficiency of a System? ?;_;ygf & u’“‘,df I J f"’ g 3 (vii)
Define the Joule, w7 § Uz wiil)
What is meant by Plasma? feir < Lt (i) a4
State Archimedes Principle. Zuk o K U (i)
Define Elasticity. ES 8 o
Define Evaporation. ’ JJ/ g u’/y:‘l (iv)
Write two properties of Thermometric Liquid. 4:,’0 b 0§ O Ltsine L KErE ()
Write use of Convection Currents. ..:‘.‘fddlf"” ¥ u"/u’g/ {vi)
Define Conduction. -é;fd .g//"' J uy % (vii)
Why metals are good conductors of Heat? ‘.'u]uﬂ../ fjﬂ,{‘ J =7 J s (viii)
18=2x9 (Part Il ) poo
@=3+1 ol St Jed WS L plat 0l w o Eu 0iv ¥ fuf L A (s 0

State Law of Conservation of Momentum and explain it with the example of Collision
of two bodies of spherical shapes.
Epdr Lob bk, GhF 1210 Gy § Ty
®) - (FUER OF Y ) JEE10e G2y J 36 Kmh™ ™ 2 L1 (L)
A train moves with a uniform velocity of 36 Kmh'1 for 10 seconds . Find the distance

travelled by train,

(4) State and explain the Law of Gravitation, el Jult £ cﬁ-"UZf () 64y
5) b e RS 6m £ 105 S B 200Kg ot T (L)

Calculate the power of a pump which can lift 200 Kg of water fhrough a height of

6m in 10 seconds. .
(4) Explain the Volumetric Thermal Expansion. ..i.)lé: J 1124 81[] o r‘:’b () 740y
(5) Z(}" JL¥ in )!:‘U"c./ﬁujg 8m x 5m x4m ¢ 1. 3Kgm 3 u’kﬁ Jm (&)

The Density of Air is 13 Kgm . Find the Mass of Air in a room measuring

8m x 5m x 4m
V4




